[ Efficiency vs vertpos |

etticiency vs vert r

Ratio

0.8

LI RARN

0.7
0.6

LA S
) SR MR "IV

% N SO N N
- : R
3 OSSR S S S

U NSRS N S R

iy
J--\G 1 11 1 1
44
1
e
+

-+

o -+

1072 10 1 10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

— —e— DQM_mkFit_baseline6iter_lowPT
Efficiend QM. . 5>

efticiency vs vert z

Ratio

—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

0.8

-

TTT T[T TTT]TT

-10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

efficiency vs Sim. PV z

Ratio

0.8

07— """ S S
ot Hpgromnan

0.5

e
E S e e

e

s s O

V2| SN N U U AN U Y
[ : 4
ro d
- A AR T

+

£

05215 10 5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


